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An exam?le o{? how %o leﬂ&'}lﬂen {ormal pr‘oolp_s

TJor jnverkible 4+ o{; the proper ]':jlce
[C_Elx:: Cx) = (Ex:: P(“-x))]
The Fr‘OO’? is b:j Provins {Dirs} (D),anc.\ -\-hen ('\),M‘H‘\

(0) [(ax:: ?X) = CE\ X1 PC‘\'X))J
1) [(BX:‘. {)X) & (Bx: ?(+X))3

The Fr‘oo? cg) (0) s

(o)
= { R=  distriboutes over ‘a%
[(Eﬁx:: (Ex:: fx) = ?(-}x))}
{ instantichion:  xi= +X7j
[(a > ‘\'ru..e]
= {Pred co.lc.i

Arue ,

Y Froof with which T have no qucmrel. Tis 'mde[ben-
dence o? -}’5 _ 'mver}-i\oihb Jus}iﬁes o Fr-cao‘? L:j

mu i) '\mF\i cation.,

To prove now (1), one can Proc.eed as {():“ows

(A x = P(‘i‘x))

= {deﬁni}ﬁoﬁ of) ‘Punc}iono.\ c_ompasi}iong
<BX== (P“'\').x)

= { (0) with ?,’r:: (F&r), !
(R x= (@4).(1‘:'1:&)3 _
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= { deﬁmhon o'? -(t)‘mdior\c.\ c.omj:osi}}on§
(BX:: C(Vo‘l') °‘}“1). ‘X)

= { @ is o\ssocic.hve.g
(E\ ¥ il ({70 (49']--’)). x}

= { £°b-1 IES ‘“’\e 'lde"\“i};j '@f\c'}ioﬂ.ﬂ
(A x: f x )

The above s un exaggero}wn DPC\ Txoo?
Carel S. Schollen and T included 'n our hwook.
Whal cbout

(A {2+ %)
= {(0) with +.=4+7'%
Ax: £ GG %))
- i +.G7 x) = x 3
(a X —? XB 7

“he grs} Froo’f infroduces  tol? as the '|clen}‘1'b
elemen)‘ ‘3{) {)uf\c\'ionq] ComPOS‘:‘}ion, w}\ereas in the
last hint o? the second Proo'\P ~which s ec(u.ivo.\en)-
with  (fed™M.x = x ~ tobt' (s not ?&nc’:’nonc\"‘j
COmPDSQd bur QFTJ\ied. \/\“'\D did unc\‘ior\a\
ccmT:os'n¥'\c.rn enter the g?urs)' Proo(? in Yhe grs}
]olace? Obviously, Jo be chle do indicate ex-
Pl“-"'nj_j n -}he 3n5¥an}ia4ion OP (0) P::(fob)'

we so desired , dhis could alse he c.chieved
bey ?:r— CAx. Q(Jr.x“ , bur dhis doo, now sirikes
me s unnecessarni| pompous. Yowu see, L am
o\So w't“'mj Jo recd (0) as: “F\ universal quon-~
\-‘lgccliorw 15 not S%‘Feng'nne.necl bJ re?‘“"”ﬁ in Ahe
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lerm dhe dummy by o flnchon of .7 Tn apply-
n this Yo (Ex;: G-x)) Yhe duMM3 {s well-
idEn}iﬁea -viz. X - ,. and S0 is the term - \ia,
{?G.x) . In order to Peﬂ%rm the nons%rens?}henin‘g
v}raﬁs'?oer)rEOn without look-chead and yattern
"-ma'}c"‘\ir\ﬁ, we on\c:] need 4o know which unchon

o czmob o the d_ukhr;ib, and Yhot is ’Pf‘eciseb Yhe
in—ﬁ)r‘mav\-‘fon the hini }.= 4 su.P]:)\EES. So T Ythink
'”'m" 'Hne grﬂ~ hint o? —qu. ]c‘us*} ]oroo() suftices,

We cowld have conlinued our second Proo{)
with |
(A x: C (b4 xN)
{o\e](.) DP -Func)"\cmo\l COM)‘JOS'I )ncm3
(E\_ I P ({')“"}M‘). X ))
= { -\-0-}"1 is  the ‘tden“ib {&r\chon}
(Q X {) x ) ”

bt , Ca.Sodn, "'he EXP\'JC\")' in}r‘oduc)rion o{) @nc’hona\

COm?oS;}‘aOn 1S No im):zrovemen\-.
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